Question Answer Marks | AOs Guidance
Equations are X° —4y =10, X+5y =k
DR
(k -5 y)2 -4y =10 M1* 3.1a | Substitute for X/y to eliminate one of the | Ify eliminated
variables
5 X 5x* +4x—4k —50 (=0)
25y + (_4 N 1Ok) y+ (k -1 0) (=0) Al 1.1 | Obtain correct (unsimplified) quadratic
Tangent = b*>—4ac=0 Dep*M1 | 2.1 | Uses b> —4ac correctly for their
quadratic
(—4—10k)’ —4(25)(k2 —10) =0 Al 1.1 | Fully correct substitution must equal 0 16-4(5)(~4k~50)=0
127 . . :
k= "o (-12.7) Al 2.2a | k correct — with sufficient working
OR DR
Gradient of line = —% B1
dy 1
Y_Zx Bl Correct differentiation 2X—4 _ 0
dx dx
11 M1 Equates their derivative with their
5X=73% gradient of line
N 2 Al X from correct working only
5
123 127 Al k from correct working only

=———(-246)=>k=——= (-127
y="%5 ¢ ) T
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